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Since the number of moles of OH- equals the number of moles of H+ (the mole ratio is 1:1) during

neutralization and there is only one ionizable hydrogen, then the number of moles of NaOH equals

the number of moles of acetylsalicylic acid.
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3. (d) (continued)

(ii) The acetylsalicylic acid will be neutralized when 0.00200 moles of NaOH have been added.
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After this amount has been added, any additional NaOH added will just increase the

concentration of OH-. So, 25.00 mL -20.00 mL = 5.00 mL OH-.
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3. (a) % mass C =
massC
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(c) (i) Carbon is the reducing agent.
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